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In contrast to finite verbs, which are so called because
they are “limited” (finitum) by the categories of person,
number, tense, and diathesis, Sanskrit has a number of
non-finite verbal forms, which do not express any of
these categories, and which are in fact indeclinable

(avyayam).
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One of these non-finite verb forms is called the

infinitive in English (tumUN, after the suffix by which it
is formed, in Sanskrit).

K J There are several other “infinitives” (in the sense of “non-finite
verbal forms”) in Sanskrit, but this is the one that most closely
resembles the “infinitive” of European languages in function.

(European languages don’t have forms that correspond to the
other non-finite verbal forms in Sanskrit.)

e

sanskrit aft uchicago




As in European languages, the infinitive is used as the
complement of another verb (and occasionally of
nouns and adjectives), generally expressing the
purpose, intention, or desire to perform the action
expressed by the infinitive.
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Panini mentions the following meanings that might take

an infinitive complement:
want to
be able fo
dare fo
know how to
weary of
strive to
begin to
get a chance to
undertake fo

be capable of "g@i"

deserve fo sanshrit at uchicago




(@

’J-l\l ‘@ H = g=9Id “He wants to eat [Vbhuj]”

3] %,e':{ gl—_L ) da “He is trying to study [adhi+Vi]"

A\ N\ O\

%ﬂ@ - R(ehll “He is able to hear [VSru]”
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Note that in all of these examples — and in the use of
Infinitive more generally — the agent of the infinitive is
the same as the agent of the verb that it complements.

This is a syntactic phenomenon called control (the head verb
controls the arguments of the infinitive). It is very important to
note, however, that this constraint applies to agents rather
than subjects! ("bhoktum drsyaté *“He is seen to eat” is
ungrammatical in Sanskrit because the agent of seeing is

not the same as the agent of eating!)
TEE=d])
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Since an infinitive is essentially an agentless verb, it can
take arguments and modifiers of its own (apart from an
argument expressing the agent, of course):

UM+ HIPH * T=B(d

“He wants to eat [Vbhuj] vadai”
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Infinitives can also sometimes be used adnominally,
l.e., as the complements of nouns or adjectives.

THH * 3FH * AT

“This is the time to speak [Vvac]”
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It is historically the accusative singular of a verbal noun,
and the “stem” (ending in -fu-) can be compounded with
the word kamah “desire” to form bahuvrihih compounds:

RINEALE

One who desires to eat
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The general rule for forming an infinitive is to stick the
suffix -tum onto the verbal root, which then takes gunah:

\/-75 —> ﬁ*ﬁ[ to do

\

VA — JH to lead
\/_%I —> %ﬁ_@:{ to hear
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verbal root ends in a consonant:
VIS — N+ TA
Vi — TH+
Vel — R+TH
Veg  — W+

—
—
—>
—>

\

IHd

)

TH

N\

\

agH
a7gq

Often we will have to perform internal sandhi if the

to eat
to go
to enter
to burn
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Also take note of roots with r and a final consonant,
which take the full-grade form -ra- instead of -ra- in order
to avoid a big consonant cluster:

\/_HEL —> ¥8H tocreate (not +w¥m)
\/_%'Q'[ —> S8H tosee  (notwgm)
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The trickiest thing about forming infinitives, however, is
that some verbal roots take an augment (a meaningless

morpheme) -i- between the verbal root and the suffix.
Panini calls this augment /7.
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—> Ollr\qgli to speak

—> leglgli to become
—> Eﬁﬁ‘g’& to realize
— wlﬁgli to produce
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The factors that condition the use or non-use of i/ are
partly phonological, partly historical, and involve many
exceptions. You should probably just try to develop a feel
for which verbs take it, and which don’t, by checking the
forms listed under particular verbs either in Monier-
Williams’ Dictionary or in Whitney’s Roots.
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But here are some general rules (see Whitney §956 and §968a-d):

K J Roots ending in vowels almost never take the augment.
Exceptions:

\bhi - bhavitum “to become”
Npd - pavitum “to purify”

s - savitum “to give birth”

V&7 - $ayitum “to lie down”

\ni = nétum or ndyitum “to lead”
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But here are some general rules (see Whitney §956 and §968a-d):

K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

Irakssl)
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“ FORMATION OF INFINITIVES
But here are some general rules (see Whitney §956 and §968a-d):

K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

3% The root ends in two or more consonants.
Vvalg - valgitum “to leap”
Veumb = cumbitum “to kiss”

raks - raksitum “to protect”
Vnind = ninditum “to blame”
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“ FORMATION OF INFINITIVES
But here are some general rules (see Whitney §956 and §968a-d):

K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

3% Theroot ends in a long vowel followed by a consonant.
\jiv = jivitum “to live”
Ndhav - dhavitum “to run”

\Vsév = sévitum “to run”
\mil =» militum “to wink”
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But here are some general rules (see Whitney §956 and §968a-d):

K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

3% The root ends in a retroflex consonant.

Vpath — pathitum “to read”
\bhan — bhanitum “to speak”
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But here are some general rules (see Whitney §956 and §968a-d):

K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

3%  The root ends in a voiceless aspirate consonant.

Vlikh = Iikhitum “to read”
grath — gréthitum “to tie”

e

sanskrit aft uchicago




K J Of roots ending in consonants, the following phonological
criteria guarantee that a root will take the augment:

% The root ends in /.

\mil -» militum “to meet”
\cal - cdlitum “to move”
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K J For other roots ending in consonants, good luck.

vid - viditum “to know”
\bhid - bhéttum “to split”
\jan - janitum “to produce”
Vhan - hantum “to strike”
Ngrah - grhitum “to grasp”
Vlabh - labdhum “to take”
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